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UNIVERSITY OF NORTH BENGAL

B.Com. Minor Ist Semester Examination, 2023

UACFMIN11001/UMNGMIN11001-COMMERCE
BUSINESS MATHEMATICS-1

Time Allotted; 2 Hours 30 Minutes ' Full Marks: 60

The figures in the margin indicate full marks.

GROUP-A / en-= / @vs&
1. Answer any four questions: Ix4 =12
- oAfT &rea Ted mes
P TIFET FHET ST oG
(@) If yociz and y =9 when x = 2, find the value of y whenx=3. 3
X

i yoc_lz_ GR y =9 T x =2 T, SR T x =3 T4 y—a7 WA g 21
X

m%yocxi2 Ty=99F x=2, y D eI GEHE x=3|

(b) The third term and six term of a series in G.P. are 3 and 81 respectively; find the 3
first term and common ratio. '

(FIF TS T T #I% @ TB 7 21 3 '8 81 I, &I 77 8 FYRE TS
a9

G.P.A1 sgEena oA T Ot sidew 3 X 81 &, YRl ue ¥ qei ear GiogeR

(©) If P, =336, find the value of . 3
W "B, =336 T, O@ n-GA W T 0
S "B, =336, n BT Geferg |

(d) If x* + y* = 6xy, show that, 2log(x + y) = logx +logy +3log2. 3
I x? + y? = 6xy T, OFTA A8 & 2log(x + y) =logx +logy +3log2 |
Rk x? + y? = 6xy, TESTER & 2log(x + y) =logx +log y + 3log2 |

() Solve: 2°*2+2*"1=320 _ 3
TgEe 277 +27 =320
252 4 2% = 320! & TR |
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)] If(a+b):(a~b)=5:2,findthevalueofb:a. 3
W (@+b):(a-b)=5:2 T, o& b:a-9 W fefy 73

e (@a+b):(a~-b)=5:2, b:a ﬁ‘j\?ﬂ@"ﬁﬁlﬁl |

GROUP-B / fett-4 / wve-g@

2, Answer any four questions: ' : 6x4 =24
@~ 51Afb 2tz Tan whes
P TREET T3P SR o
(a) In how many ways can a committee of 3 ladies and 4 gentlemen be appointed 6

from a meeting consisting of 8 ladies and 7 gentlemen? What will be the number
of ways if Mrs. A refuses to serve in a committee of Mr. B is a member?

8 ST AfEelT ¥ 7 ST GoNE® WA dowaTe 3 T HiReT ¥ 4 ST JoTer gfifer
BT fERmer F797 wferw 2 afk shafy A sfwe B WUHT FRRHT a1 7 st

(b) Find the value of : 128 V271 -Fllog:;z-i(-)log (1000
og

W e log\/ﬁ+:og:!2-i(-}log\11000
og

logﬁ'f+llog:32~l(-)logx/1000 P T RN
og

(c) In what time will a sﬁm of money double itself at 5% p-a. compound Interest? 6
(Given: log 2=0.3010, log105 = 2.0212)
AN 5% v o e, CPI S -7 faed 23
’(CW\‘!?ITWTEB\, log 2=0.3010, log105 = 2.0212)
aaférmmmﬁaﬁa#{@m% AT 8T SR G 2
flog 2=0.3010, Iog105 = 2.0212)

(d) Find the equation of the straight line passing through the point (2, 6) and 6
perpendicular to 3x~5y+7=0. '

(2, 6) RN 8 3x—5y+7=0 FEARAR 17 o7 AR e Py 93
4 (2,6)T3x~5y+7=0 mmwﬁmmmmmu

(¢) The sum of the roots of the quadratic equation is 2 and sum of the cubes is 27. 6
Find the equation.

mﬁwwaﬁmmﬁzmmﬁwmzzﬁwﬁﬁ@
)

RIS RO, ST 2T 2 8 < Tt A 27 8 1 7 S g
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(f) Sum of three consecutive terms of an A.P. is 42 and the product of first and last 6
terms is 180. Find the numbers.

Wﬁ%@mmmwmmmuwmemmwew
1801 Ryt & & ¢

AP. I AR A7 GEAESS! Ahe 42 2 ¥ ufRkdr ¥ AT TR A
180 &Y | HEATEE U= TSR |

GROUP-C / f¥@st-t / g

Answer any fwo questions 12x2 =24
R-(3W 76 2one Ted we
T GFacT HHET IR O
3. () Two samples of tea contain Darjeeling and Assam tea in the proportion of 2 : 3 6+6

and 5 : 3 by weight. They are mixed together in proportion of 3 : 4 by weight.
Find the proportion of Darjeeling and Assam tea in the final mixture.

fermeT g% TrTenAT aIiifers T s R 2 ¢ 3 X5 1 3 diedt siuie B | s
a9 GRT 3 : 4 P 3T Uaarer i o | sifeae o aififere v ara Ry
U U1 ATSTER |

(b) The expenses of a hotel are partly fixed and rest vary as the number of boarders.
When the number of boarders are 450, the expenses is ¥1,800, when the number

of boarders is 920, the expenses is ¥3,120. Find the expenses per head when there
are 1000 boarders.

6% @O DT G W 5 G GF 930 oA FRFETR TRYE SRS
-3 T SRR R 450 20 MRAPIg 456 =0T 1,800 B, 920 T Mg
¥F6 27T 3,120 BT IRIFRATE TR 1000 07 Mg T 436 #ite o 4T 391

Bleera! W Jifd w1 Ffd © R 9l el s e SraR A 579 | Y
AT HCAT 450 a1 @ T1,800 §0 9 H&AT 920 gﬂ:ﬁ@%’ris 120 g% 1 1000
T HIEHH! YT WY U ST1H] &Y BRi 576 ?

4. (a) Solve: log,x+log, x+log,sx = 241 6+6
. ' 21
YA #2¢ log, x + log, x +log,  x = T

log2x+log4x+log,6x=% ﬂﬁﬂﬁ'&ﬁi{l

(b) If one root of the cquation x’+ px+g=0 be thrice the other, show that
3p’=16gq.
AW x4 px+g=0, AR g I Wb faed =z, @ e
3p* =164 |
R G x>+ px+g =0 ﬁwwaﬁweﬂawwﬂﬁ, 3p? =16g ?ﬁ\f'ﬁ&'
GSTER |
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5. (a) The difference between simple and compound interest on a sum put out 5 years at
3% was ¥46.80. Find the sum.

W3%mqmmwswwamﬁamm46.30ﬁmw,
wceR S e

3% T ST T e RACHY T SR ¥ g s et i 746.80
B1 eI X! T TE |
(b) 1f "P, = 504, "C, = 84, then find the value of nand r.
ofd "P =504, "C, =84 @, ©@ n 6 r-a7 WA Rfa T
gfe "P. =504, "C, =84, n¥r B I GER |

6. (a) If a* =b” =c” and b2=ac,showthatl+l=—2—.
x z ¥

o o = b =" @R bE = ac T, OFA (e A, 1,12,
x z ¥y

e o =’ =c" Th’=ac, Ll &9 7 TSR
y

i + —
x z
(b) Find the term independent of x in the expansion of (9x* —1/3x)'? . What is the
simplified value of the term?

(9x% ~1/3x)"? 1 IR x T1E A= i BITE A T9B [T H & 2

——
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